This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 11 - Rutherglen South

5,806

3

1,452

#### Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Robert BROWN	Scottish Liberal Democrats		1,798
Margaret COWIE	Labour and Co-operative Party		1,142
Brian Stuart FINLAY	Scottish Green Party		152
Taylor MUIR	Scottish Conservative and Unionist		854
Carol NUGENT	Scottish National Party (SNP)		1,803
Jack SINCLAIR	UKIP		57
		Total	5,806

Candidate Robert BROWN Elected with 1,798 votes, being in excess of the quota of 1,452 Candidate Carol NUGENT Elected with 1,803 votes, being in excess of the quota of 1,452

This report contains the transfers results.

Stage 2 - Surplus of Carol NUGENT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert BROWN	0	0.00000	0.00000
Transfer to Margaret COWIE	403	0.19467	78.45201
Transfer to Brian Stuart FINLAY	885	0.19467	172.28295
Transfer to Taylor MUIR	34	0.19467	6.61878
Transfer to Carol NUGENT	0	0.00000	0.00000
Transfer to Jack SINCLAIR	40	0.19467	7.78680
Value of non-transferable ballot papers			85.85946
	Total		351.00000

### South Lanarkshire Council

# Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Robert BROWN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert BROWN	0	0.00000	0.00000
Transfer to Margaret COWIE	587	0.19243	112.95641
Transfer to Brian Stuart FINLAY	208	0.19243	40.02544
Transfer to Taylor MUIR	465	0.19243	89.47995
Transfer to Carol NUGENT	0	0.00000	0.00000
Transfer to Jack SINCLAIR	33	0.19243	6.35019
Value of non-transferable ballot papers			97.18801
	Total		346.00000

This report contains the transfers results.

Stage 4 - Exclusion of Jack SINCLAIR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert BROWN	0	0.00000	0.00000
Transfer to Margaret COWIE	6	0.19243	1.15458
Transfer to Margaret COWIE	5	0.19467	0.97335
Transfer to Margaret COWIE	7	1.00000	7.00000
Transfer to Brian Stuart FINLAY	13	1.00000	13.00000
Transfer to Brian Stuart FINLAY	17	0.19467	3.30939
Transfer to Brian Stuart FINLAY	10	0.19243	1.92430
Transfer to Taylor MUIR	8	0.19243	1.53944
Transfer to Taylor MUIR	3	0.19467	0.58401
Transfer to Taylor MUIR	24	1.00000	24.00000
Transfer to Carol NUGENT	0	0.00000	0.00000
Value of non-transferable ballot papers			17.65192
	Total		71.13699

This report contains the transfers results.

Stage 5 - Exclusion of Brian Stuart FINLAY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert BROWN	0	0.00000	0.00000
Transfer to Margaret COWIE	73	0.19243	14.04739
Transfer to Margaret COWIE	389	0.19467	75.72663
Transfer to Margaret COWIE	90	1.00000	90.00000
Transfer to Taylor MUIR	20	1.00000	20.00000
Transfer to Taylor MUIR	27	0.19467	5.25609
Transfer to Taylor MUIR	37	0.19243	7.11991
Transfer to Carol NUGENT	0	0.00000	0.00000
Transfer to Jack SINCLAIR	0	0.00000	0.00000
Value of non-transferable ballot papers			170.39206
	Total		382.54208